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Std - 09

Science (English Medium) (July - Answerbank - 2022-23)

Section - A (01 Mark Question)

1) What is the substance called which has mass and occupies space ?
(A) Matter (B) Atom (C) Molecule (D) Mixture
2) As temperature cises, kinetic energy of particles of matter .........c...........
(A) decreases (B) increases  (C) remains constant (D)increases after decrease
3) Which of the following is a sublime ?
(A) Salt (B) Ammonium chloride (C) Sugar (D) Dry ice
4) The temperature at which solid substance melt and converted into liquid, that temperature is
called ................. of solid substance.
(A) Frezing point (B) Melting point (C) Boiling point (D) None of these
5) 460 K temperature into Celsius temperature =
(A) 1870C (B) 2870C (C) -1870C (D) 7330C
6) Which of the following has definite volume but not definite shape ?
(A) Kerosene (B) Oxygen (C) Chalk (D) Steel
7) What is the amount of water vapours present in are called ?
(A) Humidity (B) Liquidity
(C) Latent heat of Vapourasation (D) Latent heat of fusion
8) What is the physical state of water at 298 K ?
(A) Solid  (B) Liquid (Q) gas (D) B.E.C.
9) Which gas is used for cooking food at home ?
(A) PNG (B) CNG (C) LPG (D) All of them
10) What is the melting point of ice ?

(A) 273.16°K (B) 273.16° C (C) 0 °K (D) -273.16° K

Answer the following as directed :

11) What is the Sl unit of temperature ?
12) Which device is used to measure the temperature ?
13) Write the boiling point of water in Kelvin.



14) Convert 400° K temperature to Celsius scale.

15) Convert 625° K temperature to Celsius scale.

16) Convert 200° C temperature to the Kelvin scale.

17) Convert - 200° C temperature to the Kelvin scale.

18) What is the physical state of water at 250° C ?

19) Write the melting point of ice in Celsius scale.
20) Write the full form of LPG.

21) Write the full form of CNG.

22) What is the Sl unit of pressure ?

Write whether the following statements are true or false.

23) Common salt is a sublime.

24) Kinetic energy of particles of ice is more that kinetic energy of particles of water at 0° C.

25) The rate of evaporation increases as the surface area decreases.

Ll E

10)

=
[

12)
13)
14)
15)

1)
2)
3)
4)
5)
6)

7)

Section-B (2 Marks Questions)

Write the characteristics of particles of matter.

Write four properties of solid state.

Write four properties of liquid state.

Write four properties of gaseous state.

Give reason — A gas fills completely the vessel in which it is kept.

Why does ice float on water ?

What is solid carbon dioxide (CO;) ? Explain in short.

Why should we were cotton clothes during summer ?

Why are water droplets seen on the outer surface of a glass containing very cold water ?
Why does water kept in an earthen pot become cool in summer ?

Why does out palm feel cold when we put some petrol on it ?

Why are we able to sip hot tea faster from a saucer rather thana cup ?
Why is water sprinkled on cotton clothes before ironing them ?

Why is iodised salt kept in air tight container ?

Particles of matter are continuous moving. — Explain

[Section-C] (3 Marks Questions)

How can matter change its State ?

Mohan comes to know from bedroom that what is being cooked in the kitchen. Explain
with reason.

Sitaben is making halwa in the kitchen.

Gitaben who is outside comes to know about it.

How does Gitaben come to know about it? Write in your own words.
Differentiate between — Prokaryotic cell and Eukaryotic cell

Differentiate between — Plant cell And Animal cell

Write the Contribution of the following Scientists in the Field of Biology (any one)
1) Robert Hooke 2) Virchow

Give Reasons — Mitochondria is called as the powerhouse of the cell.



8)
9)

10)

1)

2)
3)
4)
5)

Give Reasons — Lysosomes are called sucide bags.

The Temperature at Which Solid substance melts and Convert in Liquid is called as melting
point- Explain

Why is the cell called the structural And Functional Unit of life ? How is this helpful for an
organism?

[Section-D] (4 Marks Questions)

What is sublimation ? Explain the experiment showing sublimation of ammonium Chloride
Write Conclusion of the experiment.

What is Evaporation ? What are the Factors affecting evaporation ? Explain them.

Why is the cell called the structural and Functional unit of life ?

Explain — Ribosomes

Explain — Cell wall
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Gujarat secondary and higher secondary education board, Gandhinagar.
Standard — 9t
Social science ( July — Question bank -2022-23)
SECTION — A (01 weightage)

1. MATCH THE FOLLOWING:
A. 1492 — Discovery of America.

1498 — Vasco-D-Gama discovered sea route to India.

1914 — Beginning of First World War.

Opium war happened — between England and China.
Drafting committee Chairman ---- Dr.Bhimrao Ambedkar.

mmo 0w

Upper house ---- Rajya Sabha.

Fill in the blank:

Q2.
1. East India Company was established in year.
(1600,1668, 1675)
2. During rule Public works department was established in India.
(William Bentinck, Wellesley, Dalhousie)
3. During the last phase of 15t century people established first colony in southern
part of Africa.
(Dutch, Danish, British)
4. treaty was the main cause of First World War.
( Versailles , Frankfurt treaty ,secret treaty)
5. is the main document of countries foundation.
(Parliament, loksabha, constitution)
6. subjects are included in the union list .

(66, 97, 46)

** WRITE TRUE OR FALSE :

7. The motivation and financial support of prince Henry of Portugal helped the brave
navigators to discover sea routes.

8. Dalhousie was the first Governor General of India.

9. German writer Trotsky had spread the slogan like “Mighty has the right to live”.

10. Duma is the legislative assembly of Spain.

11. Our constitution was unanimously enforced in constituent assembly on 26" November 1949.

12. Loksabha is the permanent house.



** ANSWER THE FOLLOWING IN ONE OR TWO SENTENCE:

13. Which Mughal emperor had given the permission to the East India company to establish
trade centers in INDIA?

14. Who is known as the” Tiger of Mysore”?

15. Which German writer considered War is a “sacred work”.

16. The treaty of Versailles was held between which countries?
17. Who were the women representatives to constituent assembly?
18. What is tenure of members of Rajyasabha?

**CHOOSE THE RIGHT OPTION AND ANSWER THE FOLLOWING QUESTIONS:

19. Who was the first Governor General of British India?
A. Warren hastings B. Wellesley C. Dalhousie D. Canning
20. Who fought the third Mysore battle?
A. Tipu sultan B. Maratha C. Nizam D. Haidarali
21. Which places of France were lost in Treaty of Frankfurt?
A .parts of Dunging B. Alsace and Laurence. C. parts of western Russia. D. Parts of England.
22. How many members were there in constituent assembly?
A.389 B.545C.250D. 166.
23. India is a democratic state because
A. ltis a sovereign state.
B. ltisarepublic
C. Head of the state is elected for a certain time period.
D. There is freedom to religion.
24. Which treaties are made by the end of the First World War .
A. Treaty of Versailles B. Lantern Treaty C. secret treaty. D. Frankfurt treaty.

SECTION -B

** ANSWER THE FOLLOWING AS REQUIRED (each question carries 02marks):

Europeans felt the need to discover sea route to India. Explain the statement.
What was the impact of the downfall of Constantinople on Europeans in 1453 AD?
Which Indian goods were in demand in European market?

What were the terms and conditions of Wellesley’s welfare schemes?

How did the era of Geographical discovery start in the world?

Wellesley’'s welfare schemes were like” sweet poison”. Explain.

What were the set of reforms done by Dalhousie?

Which states went under British rule under Dalhousie’s Doctrine of lapse?

William Bentinck was popular as liberal Governor. Explain the statement.

XN EWDNR

. What is instutionalism?

=
= O

. What is imperialism?

[y
N

. Opium war held between which countries? What were its results?

[y
w

. The treaty of Frankfurt became the cause of First World War. Explain the statement.
. What were the immediate causes of First World War.?

= =
[, I Y

. 22" January 1905 is known as ‘Bloody Sunday’. Give reason.



16.
17.
18.

19.

20

21

22

23

24

25.

League of Nations was established after First World War. Give reason.
Write the objectives of League of Nations.
The policy of “War is Welfare” took root in Europe. Give reason.

Explain the meaning of given words:

(Each word carries one mark)
1. Dual citizenship.
2. Parliamentary system.

. Explain the following words;

1. Responsible government.
2. Residuary power.

. Preamble is the extract of our constitution. Explain.

. What are the fundamental duties mentioned in the preamble of constitution?
. What is universal adult suffrage?

. Preamble serves as compass for democracy. Give reason.

India is a secular state. Explain.

SECTION-C

**ANSWER THE FOLLOWING QUESTIONS POINT WISE:

(Each question carries 3 marks)

13.
14.

In which parts of India Europeans established their trade posts?

Dalhousie adopted the doctrine of lapse and the policy of annexation to expand the British
rule in India. Explain.

Write the social impact of company rule in India.

Write a short note on battle of Plassey 1757.

Write brief information on Buxar war 1764.

During the time of which Governor General the company rule in India expanded the most?
Explain the process of establishment of colonies in Western Europe, Asia, and Africa.
Write a note on the Treaty of Versailles.

Write a short note on Russian revolt 1917.

. Mention the effects of First World War.
. Write a short note on the events of First World War.
. Give the meaning of the following terms:

1. Union list.

2. State list.

3. Concurrent list.

Write the provisions for constitutional Amendments.
Explain the meaning of the given words :

1. Democratic

2. Socialistic

3. Constitution



15.

16.
17.
18.

vk whpe

Write the importance of preamble of the constitution.
Indian constitution is inclusion of federal unitary. Explain.

Write the features of Parliamentary democracy.
Explain the division of powers among three different lists mentioned in the constitution.

SECTION-D

** ANSWER THE QUESTIONS IN DETAIL:

Write the economic impact of company rule in India.

Write the factors responsible for First World War.

Give detailed information on the pillars of preamble.

Describe the features of constitution of India.

One of the distinguished features of Indian constitution is its dual house system. Explain.
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SECTION - A (1 Mark Question)
Fe203 + 2Al ® Al2 03 + 2Fe
The above reaction is an example of a,
(A) Combination reaction (B) Double displacement reaction
(Q) Decomposition reaction (D) Displacement reaction
Which reaction is also called as precipitation reaction ?
(A) Decomposition reaction (B) Combination reaction
(C) Displacement reaction (D) Double displacement reaction
On healing Lead nitrate, which coloured fumes evolved ?
(A) Yellow (B) Brown (C) White (D) Black
Which type of reaction is the burning of coal ?
(A) Displacement (B) Double displacement

(Q) Decomposition (D) Combination

Which gas if flushed in the bag of chips by the chips manufacturers to prevent the chips from

getting oxidised ?
(A) Oxygen (B) Nitrogen (C) Hydrogen (D) Helium

When we blow air by mouth in the test tube containing lime water will change into milky
white due to presence of which gas ?

(A) Oxygen (B) Carbon dioxide (C) Nitrogen (D) Humidity
is essential for autotrophs.
(A) Co2 (B) Chlorophyll (C) Sunlight (D) All of them
Food is moved to this spot by the movement of cilia in
(A) Paramoecium (B) Amoeba (C) Euglena(D) Fungi
is the first enzyme mixed with food.
(A) Pepsin (B) Cellulose (C) Salivary amylase (D) Trypsin

Breakdown of pyruvate into carbondioxide and water to produce energy takes place in

(A) Cytoplasm (B) Mitochondria (C) Chlorophyll (D) Nucleus



(11)

(12)

(13)

(14)

(15)

(16)
(17)
(18)
(19)
(20)
(21)
(22)
(23)
(24)
(25)
(26)
(27)
(28)
(29)

(30)

Aquarium is a ecosystem.

(A) Artificial (B) Natural (C) Desert (D) None of them
Which of the following are biodegradable substances ?

(A) Grass, flowers and leather (B) Grass, wood and plastic

(C) Fruit-peels, cake and lime juice (D) Cake, wood and grass

Which of the following are constitute a food-chain ?

(A) Grass, wheat and mango (B) Grass, goat and human

(C) Goat, Cow and Elephant (D) Grass, Fish and goat

Which of the following are environment-friendly practices ?

(A) Carrying cloth bags to put purchases in while shopping.

(B) Switching off unnecessary lights and fans.

(C) walking to school instead of getting your mother to drop you on her scooter.
(D) All of the above.

Which trophic level is formed by herbivores ?

(A) First(B) Second (C) Third (D) Fourth

Fill in the blanks.

Lead Nitrate powder has Colour.

Molecular formula of Lead Nitrate is

and are used in black and white photography.

is a reactive metal from Zn and cu.

Respiration is an process.

Chemical formula of marble is
Chemical formula of Slaked lime is
The opening and closing of the Stomata is a function of cells.
Enzyme lipase digests
Enzyme trypsin digests
is the longest part of alimentary canal.
Herbivores eating grass need a longer small intestine to digest
Autotrops or producers form trophic level.
A man made chemical is the main reason of depletion of ozone layer.

are at the first level in a food chain.



(18)
(19)
(20)
(21)
(22)
(23)

(24)

(25)

SECTION - B (2 Mark Question)
Why should a magnesium ribbon be cleaned before burning in the air ?
When we add lead nitrate and Potassium iodide, then
) What is the colour of precipitate ? write its name.
I Write the balanced chemical equation for the above reaction.
Differentiate between - Exothermic Reaction and Endothermic Reaction.

Why are decomposition reactions are called the opposite of combination reactions ? Write
equations for these reactions.

What is double displacement reaction ? Explain with the help of examples.
What is precipitation reaction ? Explain with the help of examples.
Why is the colour change occur in Copper Sulphate solution when we insert an iron nail in it?

The reaction of Zinc and Silver nitrate forms Zinc Nitrate. What is the type of this reaction ?
Write its balanced chemical equation.

Explain Autotrophic Nutrition.

Write the chemical equation of photosynthesis reaction.

Write the events occur during the process of photosynthesis.

What is the role of saliva in the digestion of food ?

What is the role of acid in stomach ?

Differentiate between-Aerobic respiration and anaerobic respiration.
Write the names of any four organs of respiratory system.

Why are respiratory pigments are necessary in humans ?

What are trophic levels ? Explain with the help of a food chain and write its different trophic
levels.

The flow of energy is unidirectional in ecosystem - Explain.

What is the role of decomposers in ecosystem.

Explain - Food web.

Excessive use of pesticides and Fertilisers should be avoid. Give reason.
How is ozone formed ?

Diffrentiate between - Biodegradable waste and Non-biodegradable waste.

What kind of role you will play to manage the waste disposal during ‘Swachh Bharat
Abhiyan’ ?

What are the problems caused by the non-biodegradable wastes that we generate ?



SECTION - C (3 Marks Question)
Explain Corrosion and rancidity with the help of examples.
What is redox reaction ? Explain with examples.
What are Exothermic and Endothermic reaction ? Give examples.
What are Electrolytic decomposition and photolytic.
What are Aerobic and Anaerobic respiration ? Explain the process.
Differentiate between - Autotrophic Nutrition and Heterotrophic Nutrition.
What is nutrition ? Explain Heterotrophic Nutrition.
What is ecosystem ? write components of ecosystem.

What is biological magnification ? Will the levels of this magnification be different at
different level of the ecosystem ?

How is ozone molecule formed ? what is the main reason of depletion of ozone layer ?
SECTION - D (4 Mark Question)

Explain the oxidation and reduction reactions with the help of examples in terms of gain or
loss of Oxygen.

Explain the following terms with one example each.
Explain transportation in plants.
What are blood vessels ? Explain its types.

Explain internal structure of heart with the help of neat and labelled diagram. Explain blood
circulation in it.

What are trophic levels ? Explain each trophic level with the help of example.
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Social Science (English Medium) (July - Answerbank - 2022-23)

Section-A
» Match the correct pairs :
A. Vadnagar Kirti Toran
B. Rangpur Surendranagar
C. Samveda Vedas related to music
D. Kuchipudi Andhrapradesh
E. Solitary resources Chryolite
F. Regur Black Soil
Fill in the blanks :
1) From the point of view of town — planning was the best. (Mohen-Jo-
Daro, Harappa, Rangpur)
2) Kailash temple is situated in a cave. (Ajanta, Ellora, Elephanta)

3) Interms of ownership, administration and management of forests, there are
type of forests. (Two, Three, Four)

4) There are about lakh species of animals and birds in the world. (10 Lakh, 14
Lakh, 15 Lakh)

5) In Developing Countries form of economy Prevails. (Dual economy, One — sided
economy, five — sided economy)

6) Economic system consists of co-existence of public and private sector.
(Market system, Socialist system, Mixed economy)

True or False :

7) Indian culture has flourished on the river bank of the Ganga and Brahmaputra.
8) Heritage means a valuable gift from our forefathers to us.

9) Siddis is known for Dhamal dance.

10) Abhigyan Shakuntalam and Vikramorvashiyam are plays written by Bhavbhuti.
11) Indian council of Agricultural Research has divided the soils of India into 8 Types.
12) Kaziranga National Park is located in the state of Sikkim.

Answer the following questions in one or two words.

13) What is culture ?

14) What is the other name by which Aryans were called ?
15) Who is considered as the originator of dance ?

16) Whose name is foremost in dramatic art of Gujarat ?
17) Which are the countries with capitalist system ?

18) Rhino vision is a plan for which animal ?



> Select the correct option from those given below each question and write the answer :
19) The word ‘ Lok Mata ‘ is used for
A) IndiaB) Nature C) Rivers D) Waterholes
20) ‘Chado’ dance is which dance form ?
A) Tribal dance B) Bharwad dance

C) Koli dance D) Padhaar dance

21) On which day ‘World Yoga Day’ is celebrated ?

A) 21 June B) 01 May
C) 21 April D) 05 September
22) What arrangement was made at Lothal to facilitate entry of ships ?
A) Halil B) Pillar C) Dockyard D) Grill
23) Which is the other name of Padkhau soil ?
A) Alluvial Soil B) Laterite Soil
C) Black Soil D) Red Soil
24) Economically India is which type of country ?
A) Developed B) Backward C) Developing D) Poor
Section-B

> Answer the following questions. (02 Marks)
1) India is country with an ancient culture. Explain the statement.
2) The land of India has given us and the world a rich and varied heritage. Explain.
3) Explain the meaning of culture or culture is the art of living.
4) Natural Heritage is a gift of Nature.
5) ‘Rivers’ are called ‘Lokmata’ Explain the statement.
6) Write a short note on Negritoit.
7) Why Dravidians are known as direct inheritors of Paleolithic culture. Explain.
8) Aryans were nature lovers — Explain the statement.
9) Explain our constitutional duties for preservation and conservation of Heritage.
10) Distinguish between India’s natural heritage and cultural heritage.
11) Write about hand weaving as an Indian art.
12) Explain the statement on the basic of the proverb “Padi patole bhat, phate but fite

nahi” (WSl U2lQ elld, st Ul $12 «i(3)

13) Man and clay have been closely associated since ancient time. Explain the statement.
14) Briefly explain the meaning of material heritage and genetic heritage.

15) ‘Leather work is a very old art of India’. Explain the statement.

16) Bead work is a prominent special art of Gujarat. Explain the statement.

17) Describe wood work as a form of art in India.

18) ‘Bhavai’ is emotion oriented drama. — Why ?

19) Give information about Garba and Garbi of Gujarat.

20) Give introduction of ‘Sangeet Ratnakar.’



21) The name of Jay Shankar Sundari is known as the shinning star in Guajarati drama.
Explain.
22) Measures to prevent soil Erosion.
23) What is Mountain Soil ?
24) Explain in short about Desert Soil.
25) Differentiate between Renewable and Non — Renewable Resources.
26) Meaning of terminological terms :
1) Solitary Resources
2) Rare Resources
3) Generally available Resources
27) Black Soil is Known as Regur Soil. Explain.
28) Remedies of Soil Conservation.
29) Prevention of Soil Erosion is very important. Give a reason.
30) Terminology words :
1) National income
2) Scarcity
31) Differentiate between economic development and economic Growth.
32) State the features of Market system.
33) Limitations of socialist system.
34) What are the four factors of production ?
35) Market system is known as ‘ free economy’.
36) Recognize me :
1) Earning or spending money for the exchange of services.
2) What is the method adopted by America and Japan.

Section-C

Answer the question given below in Details : (03 Marks each)
1) What is meant by Heritage ? Explain
Natural Heritage and cultural Heritage.
2) Explain the art which can be expressed through lines and colours ?
3) Explain the importance of Indian Musical Art ?
4) Give information about tribal dance of Gujarat.
5) Explain cultural Heritage of Gujarat in Detail.
6) Explain cultural Heritage of India.
7) Write a short note on Harappa town formation.
8) Write about town planning in ancient India.
9) Write a short note an Sun temple of Modhera.
10) Give an introduction to sculpture — architecture of Gujarat.
11) Give detail information about roads of Mohen-Jo-Daro and Drainage scheme.

12) Give an Introduction about Dholaveera civilization.



13) Lothal was an important port of India Explain.
14) The Gupta Era is called the ‘Golden age of Art.
15) What is Resource ? Explain its uses.
16) Describe the process of land formation, on what basis its types are based. Explain.
17) Meaning of Terminological terms:
1) Virgin vegetation
2) Community forest
3) Social forest
18) Write the difference between sanctuary and National Park.
19) Country is with diverse wildlife. Explain.
20) Today the existence of wild animals and birds is a threat. Explain the statement.
21) What is Deforestation ? Reasons for forest Destruction.
22) Protecting wild life is our moral Duty. Explain the statement.
23) State the causes of wild life Distraction.
24) Measures of wild life conservation.
25) Short note on endangered wild life.
26) What are the Main factors by Production ? Name them.
27) Write the difference between market system and socialist system.
28) Discuss the Distribution of resources in Mixed Economy.
29) Discuss the Limitations of market system.
30) Into how many parts is Indian Economy divided ?

31) Land as a factor of Production.
Section-D

Write detailed answers of the following questions. (04 Marks each)

1) Explain the meaning of natural Heritage and state what does it comprise of ?
2) Explain the progress of Dancing of Dancing art in India.

3) Discus about caves of Gujarat.

4) What is Soil ? State the types of Skil in details.

5) Describe various projects for wild life protection.

6) Mixed Economy.

7) Discuss the Benefits and limitations of Socialist system.
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